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Choose the best answer for each of the following multiple-choice questions and record the answer neatly on your answer sheet.  Please read each question and answer carefully and completely before answering.
	QNum
	Question
	Answer

	1. 
	Both the Demographic Transition Theory and Modernization Theory have been charged with ethnocentrism because they
a) assume that people in all undeveloped countries are essentially the same (e.g., “traditional”).
b) disregard historical processes such as colonialism.
c) use approaches developed to explain historical phenomena in the West to prescribe interventions in the Third World.

d) All of the above.
e) None of the above.
	D

	2. 
	The term “sustainability” is seen as useful precisely because
a) there has been a popular and political backlash against environmentalism.
b) it captures the challenges of economic growth and poverty reduction versus human impacts on the environment.
c) decision-makers are frightened of an “ecological rebellion” from the Third World.
d) All of the above.
e) None of the above.
	B

	3. 
	Whereas classic Malthusian approaches concentrate on the relationship between population and food supply, Cornucopian approaches
a) look at macro-economic policies to reduce fertility.
b) analyze relationships between gender and women’s empowerment and population growth.
c) focus on the effects of population growth on a variety of limited resources.

d) All of the above.
e) None of the above.
	E

	4. 
	Demographic Transition theory says that population grows in times of industrialization because
a) modern medical practice accompanies industrialization and lowers the death rate quickly, but the birth rate only declines sometime later.
b) industry needs more labor.
c) industry brings higher wages so families can support more children.
d) All of the above.
e) None of the above.
	A

	5. 
	According to Kolbert’s book, Fieldnotes from a Catastrophe, the main reason the US did not ratify the Kyoto Protocol on global warming in the late 1990s was because
a) at that time, the US government continued to deny that there were any anthropogenic causes for global warming.

b) the Protocol required the US government to pay off its Climate Debt through extensive cash payments to several Third World countries such as China and India, which the US did not think fair.

c) the US government balked at making mandatory cuts in greenhouse gas emissions that were larger than those required of developing nations such as China and India, which the US did not think fair.

d) All of the above.
e) None of the above.
	C

	6. 
	In his article on “individuization,” Maniates argues that the best way for individuals to make a difference in helping the environment is by
a) adjusting our personal consumption habits.
b) recognizing that consumption choices are too expensive for poor people.
c) engaging the dominant views on consumption and environment through collective political action.

d) All of the above.
e) None of the above.
	C

	7. 
	Modernization theory, as expressed by Rastow, says that
a) backwards or traditional people are not capable of achieving modern lifestyles.
b) became popular during pre-World War II colonial times.
c) is an outdated idea and is no longer a part of development thinking among practitioners.
d) All of the above.
e) None of the above.
	E

	8. 
	The metaphor “Spaceship Earth”
a) illustrates the basic tenants of the Demographic Transition theory.
b) advocates for off-world migration to solve the population problem.
c) illustrates the idea that the earth has limited resources to support its population.
d) Illustrates the basics of the Cornucopian theory.
e) None of the above.
	C

	9. 
	The two intellectual traditions of environmentalism and economic development coalesced to form the foundation for
a) Demographic Transition theory.

b) Dietz’s research on governing “the Commons.”
c) the “sustainable development” framework.

d) All of the above.
e) None of the above.
	C

	10. 
	Dryzak characterized sustainability as an “integrating discourse” because
a) it  brings together the discourses and academic cultures of environmentalism and economic development.
b) it helps people of diverse backgrounds to join together in common cause.
c) its meaning is rarely debated or contested.

d) All of the above.
e) None of the above.
	A

	11. 
	In lecture, I discussed the power to “name and frame” an issue or argument
a) because it is a useful way to critically analyze an author’s or speaker’s politics.

b) because it can be used to show how interventions and “solutions” are dictated by the manner in which problems are described.

c) as a way of explaining how thinking of a “population problem” focuses efforts for change on the Third World while thinking of a “consumption problem” focuses efforts for change on the First World.

d) All of the above.
e) None of the above.
	D

	12. 
	Malthus ‘s work is usually associated with the view that
a) improved technology can overcome the problems of population growth.
b) overpopulation will lead to social and political crises.
c) morality and religious approaches are the most effective counter forces to overpopulation, not government policy.
d) All of the above.
e) None of the above.
	B

	13. 
	One of the similarities between the Spaceship Earth metaphor and the Ecological Footprint model is
a) they both rely on detailed mathematical calculations.

b) they both give great attention to the effects of the market on resource use.

c) they both conceive of the earth’s resources as finite.

d) All of the above.
e) None of the above.
	C

	14. 
	Elizabeth Kolbert’s book, Fieldnotes from a Catastrophe, demonstrates that
a) while the phenomenon of climate change is global in scale, many of the effects and even some of the solutions are seen at the local level.
b) as individuals we are completely powerless to deal with such huge issues as melting polar ice and sea level change.
c) atmospheric scientists are less concerned about global warming than most people, and generally support the “business as usual” approach.
d) All of the above.
e) None of the above.
	A

	15. 
	The difference between “development actors” and “development subjects” is that
a) development actors tend to be the more powerful party when dealing with development subjects.
b)  development subjects have development “done” to them by development actors.

c) development subjects are usually from the same area where development interventions take place, where development actors are frequently outsiders.

d) All of the above.
e) None of the above.
	D

	16. 
	Wealth Flows theory describes household fertility choices in terms of economic calculations involving
a) costs of pregnancy, hospitalization, childbirth and health insurance.
b) the differences between wealthy and poor households an how well they care for their children.
c) the costs of raising a child versus the potential economic benefits that child will bring to the household over his/her lifetime.
d) All of the above.
e) None of the above.
	C

	17. 
	The “greenhouse effect” 
a) describes how  anthropomorphic sunbeams are beaten to death by greenhouse gas hoodlums and left to rot in earth’s atmosphere.
b) means that certain gasses in the earth’s atmosphere trap a portion of the sun’s radiation, increasing air and sea temperatures.
c) is solely an anthropogenic phenomenon that authors like Kolbert say must be completely stopped.
f) All of the above.
d) None of the above.
	B

	18. 
	In my lectures, I called “development” a “chameleon word” because 
a)  its meaning can seem to change depending on the context and the speaker.
b) it is typically found in the tropics.
c) it is something people would rather see fade into the background and not have to deal with.
d) All of the above.
e) None of the above.
	A

	19. 
	According to Venetoulis and Talberth’s “Ecological Footprint of Nations,” the Ecological Footprint technique is useful for
a) measuring a population’s resource consumption with statistical accuracy.
b) building comparisons between nations’ productive land areas.
c) demonstrating in easily understandable terms whether a population’s consumption is sustainable given its productive land area.
d) All of the above.
e) None of the above.
	C

	20. 
	The Cornucopia theory states that we need not worry about exhausting our resources because market forces will
a) make it too expensive in the long run to use up everything.
b) raise prices on resources as they get scarce, stimulating the development of substitutes.
c) provide everyone with an adequate lifestyle so consumption will eventually slow down.

d) All of the above.
e) None of the above.
	B

	21. 
	In his book, The Population Bomb, Ehrlich
a) contends that global overpopulation will not be a problem if we apply market solutions.
b) echoes the ideas associated with Thomas Malthus regarding human population and imminent catastrophes from  resource depletion.
c) promotes using ocean resources to feed earth’s exploding population.
d) All of the above.
e) None of the above.
	B

	22. 
	Concerns about equity between the First and Third Worlds in the matter of global warming include
a) Third World countries are likely to suffer greater negative consequences from global warming that First World countries.

b) Third World countries are less able to pay for mitigation of and recovery from global warming’s effects on their people than are First World countries.

c) the First World owes the Third World a “climate debt,” and should shoulder more of the burden of mitigating global warming problems, since First World countries are responsible for most of the anthropogenic greenhouse gasses emitted so far.

d) All of the above.
e) None of the above.
	D

	23. 
	Demographic Transition Theory
a) was originally developed to explain population explosions in the Third World.
b) explains population growth in industrializing societies in terms of a time lag between when people die and when their children or grand children are born.
c) explains population growth in industrializing societies in terms of a time lag between falling death rates and falling birth rates.

d) All of the above.
e) None of the above.
	C

	24. 
	According to the guest lecture by Sarah Paige (and the associated readings), while direct effects of global warming on the health of Third World populations includes heat stroke, indirect effects include
a) increased habitat ranges of disease vectors such as snails, mosquitoes and flies.

b) reduced immunity to malaria.
c) increased toxicity of water supplies due to industrial and sewerage runoff.
d) All of the above.
e) None of the above.
	A

	25. 
	The term “development” 
a) is useful because it is unambiguous – everyone understands what the  word means.
b) is highly contested and embodies the politics of the user.
c) is completely useless because defining it is like “nailing jello to the wall.”

d) All of the above.
e) None of the above.
	B


	26. 
	According Rostow’s version of Modernization theory, moving from a state of backwardness or traditionalism to a state of modernity requires economic progress through a series of steps culminating in “High Mass Consumption.”
a) True
b) False
	T

	27. 
	The “greenhouse effect” is a natural process and is necessary to life as we know it.
a) True
b) False
	T

	28. 
	The latest report (2007) on global warming put out by the Intergovernmental Panel on Climate Change (IPCC) was inconclusive on whether global warming is, in fact, happening.

a) True
b) False
	F

	29. 
	According to critics of Demographic Transition theory, pre-industrial cultures around the world have historically controlled their own fertility; they did not need Western contraception technologies.

a) True
b) False
	T

	30. 
	Cornucopian approaches to resource use are based on neo-liberal economic theories on market efficiencies.

a) True
b) False
	T
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